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1. (10%)In the electric circuit, it includes the source and load elements. The electric power deliveres to each
clement. Find the power absorbed by each elements in Figure 1.
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Figure 1. For problem 1..

2. (10%)Calculate ¥y and Iy in the circuit of F igure 2.
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Figure 2. For problem 2

3. (15%)Find ¥, in the circuit of Figures 3(a) and 3(b).
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Figures 3(a) and 3(b) for problem 3.

4. (15%)The variable resistor R in Figure 4 is adjused until it absorbs the maximum power from the circuit.
(a) Calculate the value of R for maximum power. (b) Determine the maximum power absorbed by R.

80 kQ | 20 kO
100V

S, / SR

pil

10 kQ 90 kQ

Figure 4. For problem 4.
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5. (20%)DefinFind the Thevenin and Norton equivalent at terminals a-b of the circuit shown in Figure 5.
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Figure 5. For problem 5.

6. (15%)Find v, iz, and the energy stored in the capacitor and inductor in the circuit of Figure 6 under DC
conditions.
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Figure 6. For problem 6.

7. (15%)Write down the definition of (a) voltage, (b) current, and (c) the first-order and second-order
electric circuits.



